



THE (q, k) -EXTENSION OF SOME GAMMA FUNCTION INEQUALITIES

KWARA NANTOMAH^{*1}, EDWARD PREMPEH² AND STEPHEN BOAKYE TWUM³

ABSTRACT. In this paper, the authors establish some inequalities for the (q, k) -extension of the classical Gamma function. The procedure utilizes a monotonicity property of the (q, k) -extension of the psi function. As an application, some previous results are recovered as special cases of the results of this paper.

1. INTRODUCTION AND DISCUSSION

Let us begin by recalling the following basic definitions concerning our results.

The classical Euler's Gamma function, $\Gamma(x)$ and the classical psi or digamma function, $\psi(x)$ are usually defined for $x > 0$ by

$$\Gamma(x) = \int_0^{\infty} e^{-t} t^{x-1} dt = \lim_{n \rightarrow \infty} \frac{n! n^x}{x(x+1)(x+2)\dots(x+n)}$$

and

$$\psi(x) = \frac{d}{dx} \ln \Gamma(x) = \frac{\Gamma'(x)}{\Gamma(x)}.$$

The p -extension (also known as p -analogue, p -deformation or p -generalization) of the Gamma function, $\Gamma_p(x)$ is defined (see [2]) for $p \in \mathbb{N}$ and $x > 0$ by

$$\Gamma_p(x) = \frac{p! p^x}{x(x+1)\dots(x+p)} = \frac{p^x}{x(1 + \frac{x}{1})\dots(1 + \frac{x}{p})}$$

where $\lim_{p \rightarrow \infty} \Gamma_p(x) = \Gamma(x)$.

Date: Received: xxxxxx; Revised: xxxxxx; Accepted: xxxxxx.

* Corresponding author.

2010 *Mathematics Subject Classification.* 33B15, 26A48.

Key words and phrases. Gamma function, psi function, inequality, (q, k) -extension.

Also, the q -extension of the Gamma function, $\Gamma_q(x)$ is defined (see [7]) for $q \in (0, 1)$ and $x > 0$ by

$$\Gamma_q(x) = (1 - q)^{1-x} \prod_{n=0}^{\infty} \frac{1 - q^{n+1}}{1 - q^{n+x}} = (1 - q)^{1-x} \prod_{n=1}^{\infty} \frac{1 - q^n}{1 - q^{n+x}}$$

where $\lim_{q \rightarrow 1} \Gamma_q(x) = \Gamma(x)$.

The k -extension of the Gamma function, $\Gamma_k(t)$ is similarly defined (see [5]) for $k > 0$ and $x \in \mathbb{C} \setminus k\mathbb{Z}^-$ as

$$\Gamma_k(x) = \int_0^{\infty} e^{-\frac{t}{k}} t^{x-1} dx = \lim_{n \rightarrow \infty} \frac{n! k^n (nk)^{\frac{x}{k}-1}}{(x)_{n,k}}$$

where $(x)_{n,k} = x(x+k)(x+2k)\dots(x+(n-1)k)$ is the k -Pochhammer symbol and $\lim_{k \rightarrow 1} \Gamma_k(x) = \Gamma(x)$.

Krasniqi and Merovci [8] also defined the (p, q) -extension of the Gamma for $p \in \mathbb{N}$, $q \in (0, 1)$ and $x > 0$ by

$$\Gamma_{p,q}(x) = \frac{[p]_q^x [p]_q!}{[x]_q [x+1]_q \dots [x+p]_q}$$

where $[p]_q = \frac{1-q^p}{1-q}$, and $\Gamma_{p,q}(x) \rightarrow \Gamma(x)$, as $p \rightarrow \infty$ and $q \rightarrow 1$.

Furthermore, Díaz and Teruel [6] also defined the (q, k) -extension of the Gamma for $q \in (0, 1)$, $k > 0$ and $x > 0$ as follows.

$$\Gamma_{q,k}(x) = \frac{(1 - q^k)_{q,k}^{\frac{x}{k}-1}}{(1 - q)^{\frac{x}{k}-1}} = \frac{(1 - q^k)_{q,k}^{\infty}}{(1 - q^x)_{q,k}^{\infty} (1 - q)^{\frac{x}{k}-1}}$$

where

- (i) $(x + y)_{q,k}^n := \prod_{i=0}^{n-1} (x + q^{ik}y)$ and
- (ii) $(1 + x)_{q,k}^t := \frac{(1+x)_{q,k}^{\infty}}{(1+q^{kt}x)_{q,k}^{\infty}}$, for $x, y, t \in \mathbb{R}$ and $n \in \mathbb{N}$.

By using the relations (i) and (ii), the function $\Gamma_{q,k}(x)$ takes the following form.

$$(1.1) \quad \Gamma_{q,k}(x) = \frac{1}{(1 - q)^{\frac{x}{k}-1}} \prod_{n=0}^{\infty} \frac{1 - q^{(n+1)k}}{1 - q^{n+k+x}}$$

It satisfies the following identities.

$$(1.2) \quad \Gamma_{q,k}(x + k) = [x]_q \Gamma_{q,k}(x)$$

$$(1.3) \quad \Gamma_{q,k}(k) = 1$$

Similarly, the (q, k) -extension of the psi function is defined as

$$\psi_{q,k}(x) = \frac{d}{dx} \ln \Gamma_{q,k}(x) = \frac{\Gamma'_{q,k}(x)}{\Gamma_{q,k}(x)}$$

where $\Gamma_{q,k}(x) \rightarrow \Gamma(x)$, $\psi_{q,k}(x) \rightarrow \psi(x)$ as $q \rightarrow 1$, $k \rightarrow 1$.

The function $\psi_{q,k}(x)$ as defined above exhibits the following series representations

$$(1.4) \quad \psi_{q,k}(x) = -\frac{1}{k} \ln(1-q) + (\ln q) \sum_{n=0}^{\infty} \frac{q^{nk+x}}{1-q^{nk+x}},$$

$$(1.5) \quad = -\frac{1}{k} \ln(1-q) + (\ln q) \sum_{n=0}^{\infty} \frac{q^{(n+1)x}}{1-q^{(n+1)k}}$$

By taking the logarithmic derivative of (1.1), we obtain (1.4), and the relation (1.5) was established in [4].

In 2008, Shabani [14] proved the following inequality generalizing the previous results of [1], [3], [12] and [13].

$$(1.6) \quad \frac{\Gamma(a+b)^\mu}{\Gamma(c+d)^\lambda} \leq \frac{\Gamma(a+bx)^\mu}{\Gamma(c+dx)^\lambda} \leq \frac{\Gamma(a)^\mu}{\Gamma(c)^\lambda}, \quad x \in [0, 1]$$

where a, b, c, d, μ and λ are real numbers such that $a+bx > 0$, $c+dx > 0$, $a+bx \leq c+dx$, $0 < \mu b \leq \lambda d$ and $\psi(a+bx) > 0$ or $\psi(c+dx) > 0$.

Since then, this inequality has attracted the attention of several researchers. For instance, in [9], [15], [11] and [8], the authors respectively proved the results for the p -extension, q -extension, k -extension and (p, q) -extension of the gamma function.

Also, in 2009, Vinh and Ngoc [16] proved the following related results by using the Dirichlet's integral.

$$(1.7) \quad \frac{\prod_{i=1}^n \Gamma(1+\alpha_i)}{\Gamma(\beta + \sum_{i=1}^n \alpha_i)} \leq \frac{\prod_{i=1}^n \Gamma(1+\alpha_i x)}{\Gamma(\beta + \sum_{i=1}^n \alpha_i x)} \leq \frac{1}{\Gamma(\beta)}$$

where $x \in [0, 1]$, $\beta \geq 1$, $\alpha_i > 0$, $n \in \mathbb{N}$.

In addition, in the papers [11] and [17], the authors by using different procedures, separately proved the k -extension of (1.7) together with other results.

In this paper, the objective is to prove the (q, k) -extension of the inequalities (1.6) and (1.7) by using similar techniques as in [11] and [14]. We present our results in the following section.

2. RESULTS

In order to present our results, we need the following Lemmas.

Lemma 2.1. *Let $x > 0$, $y > 0$ with $x \leq y$, then for $q \in (0, 1)$ and $k > 0$,*

$$(2.1) \quad \psi_{q,k}(x) \leq \psi_{q,k}(y).$$

Proof. By differentiating the series representation (1.4), we obtain

$$\psi'_{q,k}(x) = (\ln q)^2 \sum_{n=0}^{\infty} \frac{q^{nk+x}}{(1-q^{nk+x})^2} \geq 0.$$

Thus, $\psi_{q,k}(x)$ is increasing for $x > 0$. Then, for $0 < x \leq y$, we have $\psi_{q,k}(x) \leq \psi_{q,k}(y)$ concluding the proof. See also [10]. \square

Remark 2.1. The fact that $\psi_{q,k}(x)$ is increasing for $x > 0$, can alternatively be established by using identity (1.2). That is, by taking the logarithmic derivative of (1.2), we obtain $\psi_{q,k}(x+k) - \psi_{q,k}(x) = -\frac{(\ln q)q^x}{1-q} \geq 0$.

Lemma 2.2. *Let a, b, c and d be real numbers such that $0 < a + bx \leq c + dx$. Then for $q \in (0, 1)$ and $k > 0$, we have*

$$\psi_{q,k}(a + bx) \leq \psi_{q,k}(c + dx).$$

Proof. Follows directly from Lemma 2.1. □

Lemma 2.3. *Let a, b, c, d, μ and λ be positive real numbers such that $\mu b \leq \lambda d$ and $a + bx \leq c + dx$. For $q \in (0, 1)$ and $k > 0$, if either:*

(i) $\psi_{q,k}(a + bx) > 0$ or

(ii) $\psi_{q,k}(c + dx) > 0$,

then,

$$\mu b \psi_{q,k}(a + bx) - \lambda d \psi_{q,k}(c + dx) \leq 0.$$

Lemma 2.4. *Let a, b, c, d, μ and λ be positive real numbers such that $\mu b \geq \lambda d$ and $a + bx \leq c + dx$. For $q \in (0, 1)$ and $k > 0$, if either:*

(i) $\psi_{q,k}(a + bx) < 0$ or

(ii) $\psi_{q,k}(c + dx) < 0$,

then,

$$\mu b \psi_{q,k}(a + bx) - \lambda d \psi_{q,k}(c + dx) \leq 0.$$

The proofs of Lemmas 2.3 and 2.4 follow from Lemma 2.2, and are in a similar method as those in [14]. As a result, we omit them.

Lemma 2.5. *Let $x \geq 0$, $\alpha_i > 0$, $\beta \geq k > 0$ and $q \in (0, 1)$. Then, $k + \alpha_i x \leq \beta + \sum_{i=1}^n \alpha_i x$, $n \in \mathbb{N}$ implies*

$$\psi_{q,k}(k + \alpha_i x) \leq \psi_{q,k}\left(\beta + \sum_{i=1}^n \alpha_i x\right).$$

Proof. Follows from Lemma 2.1. □

Theorem 2.1. *Define a function G for $x \geq 0$, $q \in (0, 1)$ and $k > 0$ by*

$$G(x) = \frac{\Gamma_{q,k}(a + bx)^\mu}{\Gamma_{q,k}(c + dx)^\lambda}$$

where a, b, c, d, μ and λ are positive real numbers such that $a + bx \leq c + dx$, $\mu b \leq \lambda d$ and either $\psi_{q,k}(a + bx) > 0$ or $\psi_{q,k}(c + dx) > 0$. Then G is a decreasing function of x and the following inequalities hold true:

$$(2.2) \quad \frac{\Gamma_{q,k}(a + b)^\mu}{\Gamma_{q,k}(c + d)^\lambda} \leq \frac{\Gamma_{q,k}(a + bx)^\mu}{\Gamma_{q,k}(c + dx)^\lambda} \leq \frac{\Gamma_{q,k}(a)^\mu}{\Gamma_{q,k}(c)^\lambda}$$

for $x \in [0, 1]$, and

$$(2.3) \quad \frac{\Gamma_{q,k}(a + bx)^\mu}{\Gamma_{q,k}(c + dx)^\lambda} < \frac{\Gamma_{q,k}(a + b)^\mu}{\Gamma_{q,k}(c + d)^\lambda}$$

for $x \in (1, \infty)$.

Proof. Let $u(x) = \ln G(x)$. Then,

$$u(x) = \ln \frac{\Gamma_{q,k}(a+bx)^\mu}{\Gamma_{q,k}(c+dx)^\lambda} = \mu \ln \Gamma_{q,k}(a+bx) - \lambda \ln \Gamma_{q,k}(c+dx)$$

That implies,

$$\begin{aligned} u'(x) &= \mu b \frac{\Gamma'_{q,k}(a+bx)}{\Gamma_{q,k}(a+bx)} - \lambda d \frac{\Gamma'_{q,k}(c+dx)}{\Gamma_{q,k}(c+dx)} \\ &= \mu b \psi_{q,k}(a+bx) - \lambda d \psi_{q,k}(c+dx) \leq 0. \quad (\text{i.e. by Lemma 2.3}) \end{aligned}$$

That implies u is decreasing on $x \in [0, \infty)$. Consequently, G is also decreasing on $x \in [0, \infty)$. Then for $x \in [0, 1]$ we have,

$$G(1) \leq G(x) \leq G(0)$$

yielding the result (2.2). Also, for $x \in (1, \infty)$, we have $G(x) < G(1)$ yielding the result (2.3). \square

Remark 2.2. In Theorem 2.1, if $\mu b \geq \lambda d$ and either $\psi_{q,k}(a+bx) < 0$ or $\psi_{q,k}(c+dx) < 0$, then by Lemma 2.4, G is decreasing and the double inequalities (2.2) and (2.3) still hold true.

Theorem 2.2. Define a function H for $x \geq 0$, $q \in (0, 1)$ and $k > 0$ by

$$H(x) = \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)}$$

where $\beta \geq k$, $\alpha_i > 0$, $n \in \mathbb{N}$. Then H is a decreasing function of x and the following inequalities are valid:

$$(2.4) \quad \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i)} \leq \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)} \leq \frac{1}{\Gamma_{q,k}(\beta)}$$

for $x \in [0, 1]$, and

$$(2.5) \quad \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)} < \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i)}$$

for $x \in (1, \infty)$.

Proof. Let $v(x) = \ln H(x)$. Then,

$$\begin{aligned} v(x) &= \ln \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)} \\ &= \ln \prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x) - \ln \Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x) \end{aligned}$$

implying that,

$$\begin{aligned} v'(x) &= \sum_{i=1}^n \left(\alpha_i \frac{\Gamma'_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(k + \alpha_i x)} \right) - \left(\sum_{i=1}^n \alpha_i \right) \frac{\Gamma'_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)} \\ &= \sum_{i=1}^n (\alpha_i \psi_{q,k}(k + \alpha_i x)) - \left(\sum_{i=1}^n \alpha_i \right) \psi_{q,k}(\beta + \sum_{i=1}^n \alpha_i x) \\ &= \sum_{i=1}^n \alpha_i \left[\psi_{q,k}(k + \alpha_i x) - \psi_{q,k}(\beta + \sum_{j=1}^n \alpha_j x) \right] \leq 0. \quad (\text{by Lemma 2.5}) \end{aligned}$$

That implies v and as a result H are decreasing on $x \in [0, \infty)$. Then for $x \in [0, 1]$ we obtain

$$H(1) \leq H(x) \leq H(0)$$

concluding the proof of (2.4). Also, for $x \in (1, \infty)$, we have $H(x) < H(1)$ establishing the result (2.5). \square

By a similar method, it is easy to prove the following results.

Theorem 2.3. *Let Q be defined for $x \geq 0$, $q \in (0, 1)$ and $k > 0$ by*

$$Q(x) = \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)}$$

where $\beta \geq k$, $\alpha_i < 0$, $n \in \mathbb{N}$ such that $0 < k + \alpha_i x \leq \beta + \sum_{i=1}^n \alpha_i x$. Then Q is increasing and the following inequalities are satisfied:

$$(2.6) \quad \frac{1}{\Gamma_{q,k}(\beta)} \leq \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)} \leq \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i)}$$

for $x \in [0, 1]$, and

$$(2.7) \quad \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i x)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i x)} > \frac{\prod_{i=1}^n \Gamma_{q,k}(k + \alpha_i)}{\Gamma_{q,k}(\beta + \sum_{i=1}^n \alpha_i)}$$

for $x \in (1, \infty)$.

3. CONCLUDING REMARKS

Remark 3.1. By setting $k = 1$ in Theorem 2.1, we obtain the q -extension of (1.6) as presented in [15].

Remark 3.2. By allowing $q \rightarrow 1$ in Theorem 2.1, we obtain the k -extension of (1.6) as presented in [11].

Remark 3.3. By allowing $q \rightarrow 1$ while $k \rightarrow 1$ in Theorem 2.1, we obtain (1.6).

Remark 3.4. By allowing $q \rightarrow 1$ in Theorem 2.2, we obtain the k -extension of (1.7) as presented in [11] and [17].

Remark 3.5. By setting $k = 1$ in Theorem 2.2, we obtain the q -extension of (1.7).

Remark 3.6. By allowing $q \rightarrow 1$ while $k \rightarrow 1$ in Theorem 2.2, we obtain (1.7).

ACKNOWLEDGEMENTS

The authors are grateful to the anonymous reviewers for their useful comments and suggestions, which helped in improving the quality of this paper.

REFERENCES

- [1] C. Alsina and M. S. Tomás, *A geometrical proof of a new inequality for the gamma function*, J. Ineq. Pure Appl. Math. **6**(2) (2005), Art. 48.
- [2] T. M. Apostol, *Introduction to Analytic Number Theory*, Springer-Verlag, 1976.
- [3] L. Bougoffa, *Some inequalities involving the Gamma Function*, J. Ineq. Pure Appl. Math. **7**(5)(2006), Art. 179.
- [4] K. Brahim and Y. Sidomou, *Some inequalities for the q, k -Gamma and Beta functions*, Malaya Journal of Matematik, **1**(1)(2014), 61-71.
- [5] R. Díaz and E. Pariguan, *On hypergeometric functions and Pachhammer k -symbol*, Divulgaciones Matemáticas **15**(2)(2007), 179-192.
- [6] R. Díaz and C. Teruel, *q, k -generalized gamma and beta functions*, J. Nonlin. Math. Phys. **12**(2005), 118-134.
- [7] F. H. Jackson, *On a q -Definite Integrals*, Quarterly Journal of Pure and Applied Mathematics **41**(1910), 193-203.
- [8] V. Krasniqi and F. Merovci, *Some Completely Monotonic Properties for the (p, q) -Gamma Function*, Mathematica Balkanica, New Series **26**(2012), Fasc. 1-2.
- [9] V. Krasniqi and A. S. Shabani, *Convexity properties and inequalities for a generalized gamma function*, Applied Mathematics E-Notes, **10**(2010), 27-35.
- [10] K. Nantomah, *Some Inequalities for the Ratios of Generalized Digamma Functions*, Advances in Inequalities and Applications, Vol . 2014 (2014), Article ID 28.
- [11] K. Nantomah and M. M. Iddrisu, *The k -analogue of some inequalities for the Gamma function*, Electron. J. Math. Anal. Appl., **2**(2), (2014), 172-177.
- [12] J. Sándor, *A note on certain inequalities for the gamma function*, J. Ineq. Pure Appl. Math. **6**(3)(2005), Art. 61.
- [13] A. Sh. Shabani, *Some inequalities for the Gamma Function*, J. Ineq. Pure Appl. Math. **8**(2)(2007), Art. 49.
- [14] A. Sh. Shabani, *Generalization of some inequalities for the Gamma Function*, Mathematical Communications, **13**, (2008), 271-275.
- [15] A. Sh. Shabani, *Generalization of some inequalities for the q -gamma function*, Annales Mathematicae et Informaticae, **35**, (2008), 129-134.
- [16] N. V. Vinh and N. P. N. Ngoc, *An inequality for the Gamma Function*, International Mathematical Forum, **4** (28),(2009), 1379-1382.
- [17] J. Zhang and H. Shi, *Two double inequalities for k -gamma and k -Riemann zeta functions*, Journal of Inequalities and Applications, **2014**,2014:191.

¹ DEPARTMENT OF MATHEMATICS, UNIVERSITY FOR DEVELOPMENT STUDIES, NAVRONGO CAMPUS, P. O. BOX 24, NAVRONGO, UE/R, GHANA.

E-mail address: mykwarasoft@yahoo.com, knantomah@uds.edu.gh

² DEPARTMENT OF MATHEMATICS, KWAME NKRUMAH UNIVERSITY OF SCIENCE AND TECHNOLOGY, KUMASI, GHANA.

E-mail address: eprempeh.cos@knust.edu.gh

³ DEPARTMENT OF MATHEMATICS, UNIVERSITY FOR DEVELOPMENT STUDIES, NAVRONGO CAMPUS, P. O. BOX 24, NAVRONGO, UE/R, GHANA.

E-mail address: stwum@uds.edu.gh